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& & TREH H O %M HUFE ERSEVE] # Y H 3l 8 % B 3l
GE kg kg kg |HEEE R B il £l BiE Fif 18
1101 X4R BE 65 650 0 650 10. 00 0 0 0 972 0 432
£E 12 180 0 180 15.00 0 0 0 0 648 0
G 17 830 0 830
N3 i me 12 120 0 120 10. 00 0 0 0 1,944 0 1.080
& 12 120 0 120
N3wEFEAS GH 280 2, 800 0 2,800
1141 348 &5 10 50 0 50 5.00 0 0 0 3, 240 0 1,728
BE 5 50 0 50 10. 00 0 0 0 1,620 0 864
&h 15 100 0 100
1201 B3 D 185 2,775 0 2,715
1203 F v~y | BH 180 1,800 0 1,800 10. 60 0 0 0 756 0 540
&) 180 1,800 0 1,800
1205 [F5hAE | EE 1, 565 626 626 0 0.40 138 0 54 0 0 0
s 75 300 0 300 4.00 0 0 1,404
L] 360 12 0 72 0.20 0 0 0 97 0 70
Gh 2,000 998 626 312
1201 5% &E 840 84 84 0 0.10 43 0 41 0 0
EE 133 133 133 0 1.00 302 0 140 0 0
EiE 3 15 0 15 5.00 0 0 0 0 2,268
&) 976 232 217 15
1200 52 ERE 20 60 0 60 3.00 0 0 0 1,350 0 1,296
& 20 60 0 60
1223 5% RE 604 181 181 0 0.30 130 0 43 0 0 0
&) 604 181 181
1301 78F mE 25 50 0 50 2.00 0 0 0 1,296 0 1,134
= 80 16 0 16 0.20 0 0 0 0 108 0
=y 760 228 0 228 0.30 0 0 0 146 0 140
=yl 135 68 0 68 0.50 0 0 0 0 162 0
= 8 40 0 40 5.00 0 0 0 2,700 0 2,592
&) 1,008 402 0 402
1321 I s 90 450 0 450 5.00 0 0 0 2,700 0 2,592
= 105 525 0 525 5.00 0 0 0 2,582 0 2,268
&H 185 975 0 975
1B1E—<> |55 240 36 0 36 0.15 0 0 0 0 97 0
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EE kg kg kg |HE8E B HiE *pil 2 B i RiE
(&h 240 36 0 36
1400 4 V45 &%l 5 10 0 10 2.00 0 0 0 0 3,024 0
6] 5 10 0 10
1407 RBE ERS 200 20 0 20 0.10 0 16
ERE 10 10 0 10 1.00 0 0 972
D 220 50 0 50
1501 HE BE 142 710 0 70 5.00 0 0 0 1,188 0 540
(& 142 710 0 1o
1513 A =9 42 | dilFE 510 5,100 0 5,100 10. 00 0 0 0 2,160 0 648
GH 510 5,100 0 5,100
1621 B B 6 60 0 60 10. 00 0 0 0 3,888 0 2,700
G 6 60 0 60
1609 Jow 3y | FI 32 192 0 192 6.00 0 0 0 2,592 0 2,052
&h 32 192 0 192
1611 L2 R 7S 15 150 0 150 10. 00 0 2,808 1,944
12 13 65 0 65 5.00 0 1,134 756
Ep) 28 215 0 215
16129 = L4 R | &R 10 50 0 50 5.00 0 0 0 1,350 0 1,188
G 22 110 0 110
16827 ==k= bk [FN 210 42 0 42 0.20 151 0 140
BEX 30 90 0 90 3.00 0 1,512 0
(& 407 187 0 187
1706 5% = 630 50 0 50 0.08 0 0 0 0 45 0
GhH 630 50 0 50
1803 £ EE 870 87 0 87 0.10 0 0 0 162 0 77
£E 90 18 0 18 0.20 0 0 0 0 228 0
6] 960 105 0 105
1807 HE &5 150 15 0 15 0.10 0 51
=% 30 5 0 5 0.15 0 85
=5 1,050 210 0 210 0.20 0 18 0 Iy
G 1,230 230 0 230
1809 L&H L =5 500 50 0 50 0.10 46
=% 150 30 0 30 0.20 0 97
&) 650 80 0 80
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EiE-hE-EE CHEBRRUHAHEERALEZSD)
w4 FEEMH H OB R YR FaxER S # Y H 3l  xt 3l
(EE kg kg kg |HEEEH BEHK i il 2l i H{E 28
* SIFERT * 20,614 31,105 2,048 29, 057
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IEE kg kg kg |HEEE B =il i Eq ! afE il RfE

2105 @AM A | FaFRb 38 380 0 380 10. 00 0 0 0 3,888 0 1,620
Gh 38 380 0 380
2115 % —J )L D 23 301 0 391

2121 7% 4 EIE 20 200 0 200 10. 00 0 0 0 0 3, 564 0
D 20 200 0 200

2131 £ =y 80 320 0 320 4. 00 0 0 0 2,527 0 2,106
() 80 320 0 320

210 3F+-d)L | FF% 10 100 0 100 10.00 0 0 0 0 4,320 0
GEH 10 100 0 100

221 &+ & 43 430 0 430 | 10.00 0 0 0 6, 588 0 4,320
EH 43 430 0 430

2811 & 12 50 14 0 14 0.21 0 0 0 605 0 551

R 40 11 0 1 0.27 0 0 0 616 0 562

ek 773 193 0 193 0.25 0 0 0 432 0 270

=y 100 25 0 25 0.25 0 0 0 0 529 0

= 60 16 0 16 0.27 0 0 0 0 497 0

=2 360 108 0 108 0.30 0 0 0 616 0 562
&) 1,383 367 0 367
* 53 $EE * 3,17 3,085 0 3,085




